Grade 9 Math — Section 1.1

Name:
1. Find each square root:
A V64= ? B.  V49= . V=5
2. What is the square of each number?
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E‘ 40 a perfect square? Explain why or why not.
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5. Determine the value of each square root.
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6. Calculate the number whose square root is:
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7. Determine if each number below is a perfect square. Show your workings.
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8. The area of a square garden is 12.25 m?.

a) Determine the perimeter of the garden.
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b) The owner decides to put a gravel pathway around the garden. This reduces the area of
the garden by 4.96 m?. What is the new side length of the garden?

New Ryea =12.25 496 = 129
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